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A BREE CBUNTTT) YE AL - 15 Hip: 10
WS | KRR g4 Hom KRR | AZm 2 | 3| 4 HE | AA%ER | &1E

1 | BEEA OpenStack = T BRI F & HR 5 M H FRAEAT 191F— 4 4 | 4 4 14
2 | ERA I VKIS 194+ — 2 2 2 2 6
3| EER Py thon 27 %1t T 191F— 6 6 6 6 18
4 | EEAR | BEAREER b ER O 3 SRR R RS 2-1 T HETR 191F— 2 2 | 2 2 6
5 |BEAR A THEEE R R RS (BE) XN 19— 4 4 4 4 12
6 [BEAR AUTOCAD KVl 197f— 2 2 2 2 6
T | EER o T et EX 197 — 4 4 4 4 14
8 | BER OpenStack z T B FERN AR & B 5 N H J5 5 ] 191+ = 4 4 [ 4| 2 10
9 [HEAR LROA 2k FE VK 193 2 2 2 2 6
10 |[EER Pythonf& 7 511 THF5E 193 — 6 6 6 6 18
11 | BER | BHEFRBAEMDER O F ORISR RS 2-1 T e 1971 = 2 2 2 2 6
12 | ERAR A E RGN RS (BUE) RN 1911 — 4 4| 4| 4 12
13 | fEEA AUTOCAD e 193 — 2 2 2 2 6
LRSS W Tt FEX 193 — 4 4 4 4 12
15 | fEEAR OpenStack z T BRI F & HR 5 8 H FRAEAT 1971 = 4 4 | 4 4 12
16 |EEA& eI VK 193+ = 2 2 2 4
17 | EER Py thonf& /¥ ¥ it Shae 197 = 6 6 6 6 20
18 | EER | BEEAR AN E R A2 2 OISR RS 2-1 T HETR 193+ = 2 2 2 2 6
19 | EER AEFEPEL SR RS G TR 1971 = 4 4 4 4 14
20 [BRA AUTOCAD 2R 193+ = 2 2 2 2 6
21 [ BEEA W BT T Ty 1971 = 4 4 4 4 14
22 | BB A OpenStack z T BRI F & HA 5 R Pa T ST 19114 4 2 4 2 8
23 | ERA SRaAisk VKM 19117y 2 2 2 2 8
24 | fGE A Pythonf& > 511 Shicac 19114 6 6 6 6 18
25 |EER | BEAREEMPER G F SRR RBG 2-1 T FHE R 194+ 2 2 | 2 2 6
26 | EER A ETHENEER R RS (BUE) AR 191179 4 4| 4| 4 14
27T |ERA AUTOCAD 2T 191179 2 2 2 2 6
28 | fEREA W Tt A 19174 4 4 | 4 | 4 14
29 | EEA REFAE N HEER 5O 3 G AT 191F 1 2 2 2 2 8




B IRIRY A A e 5

RI5E R gt iR

AT PRES (BN PEH - 15 A 10
WS | KRR g4 Hom KRR | AZm 2 | 3| 4 HE | AA%ER | &1E
30 | EER ERVAE AL S A RAIE LT 1971 H 2 2 2 2 8
31 | fERA =YL —3D MAX AW 194+ 10 4 4 | 4 | 4 14
32 | EER W) 2 22 AR ik IR 191F i 4 4 | 4| 4 12
3B | EEAR A ETHENER R RS (BUE) R 19715 4 4 | 4 | 4 12
M | HEA PythonF ¥ ¥ it i 194+ H 6 6 6 6 18
3B | EEAR AUTOCAD 2P 194110 2 2 2 2 6
36 | EEAR GReAni sk EutE 191F 1L 2 2 2 2 4
37 | BRA RKEAENHEE 5D 5 X AL % 19775 2 2 2 4
B | EEAR Bl A il 5 @)k X 7% 19775 2 2 2 4 8
9 | FEAR S YEEAE—3D MAX By 19718 4 4 | 4 | 4 14
40 | EER P 2 22 AR ik IR 191F75 4 4| 4| 4 12
41 | EEA& A E RGN RS (BUE) TR 19915 4 4 | 4 | 4 12
42 | BEA PythonF ¥ ¥ it g 1937 6 6 6 6 18
413 | BRA AUTOCAD AT 19375 2 4 4
4 | EEA SiaAisk % 197175 2 2 2 6
45 | EEA BBl e it2 i 19— 4 4 | 4 | 4 14
46 | fFEA EISc kit 1 F 19— 4 4 | 4 4 14
47 [EEA Poes A [ '94 19— 4 4 4 4 12
18 [FEAR SEIH TSR A SE THH 19§ — 4 4 14 4 12
19 [EER =4 —3D MAX W5 19K — 4 4 | 4 | 4 12
50 | fEEA AT R AR5 1 =N 4 19— 4 4| 4| 4 12
51 |fEEAR | BRI b ER Ol 32 ORI R Z S 2-1 K ILAF 19— 2 2 2 2 6
52 [ ERA B scE kit 2 =it 19— 4 4 4 4 12
53 | fGRAR EhaNArar! i 19K — 4 4 4 2 12
54 | EER PR A Kk 19— 4 4 4 4 12
55 | ERA PSR A sl BHEH 19F = 4 4 4 4 12
56 | fHREA ZYEFRIE —3D MAX eV 19— 4 4 4 4 14
57 | ERA RS E SR 5 A LR 19F = 4 4 4 4 12
58 | fHEAR | BEARBAR R AL E R IR R 2-1 ik LA 19K — 2 2 | 2 2 6
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A BREE CBUNTTT) YE AL - 15 Hip: 10
WS | KRR g4 Hom KRR | AZm 2 | 3| 4 HE | AA%ER | &1E
59 | fHEA NoSQL #ifs L [ 19KBIE—| 4 2 4 4 10
60 | EER Hadoop Gk 19 R — 4 2 4 4 12
61 |fHEA Kt @A S| EIS 19RBHE—| 2 2 | 2 2 8
62 | fEER RIETH kR 1O H A — 4 4 4 4 12
63 | HEA Python 55 e [19KEHE—| 4 2 4 | 4 10
64 | HER | BEREERDER LS E OISR RMIE 2-1 skE (19K EE—| 2 2 2 2 6
65 | fEE &R ZEA Sl ik 19REH—| 2 2 | 2 2 6
66 | EER NoSQL %4 FLH 1O — 4 4 4 8
67 | EEAR Hadoop FLH B 19 K #HE — 4 4 4 8
68 | EER HA AT S| Tk LR H R — 2 2 2 2 6
69 | EER RES ikEKF | 19KEUE—=| 4 4 4 4 12
70 | EEAR Python i&& 4k LR — 4 4 4 10
71 | EER | BRI ER LT E ORI R R 2-1 KA [19KEHE | 2 2 | 2 2 6
72 | fERA ZEA I Tk 19K HdE — 2 2 2 2 6
3| EEAR CUTRE T K ~Javam 2 ISR 195 A 4 4 | 4| 4 14
| EEAR KEE T8 TRAEAT 1951 A 4 4 | 4| 4 14
75 | EREA Hdha e 8 A R4 19 A% 4 4 4 2 10
76 | EEAR UT R S 32 11 GEL 19%R A4 4 4 4 4 12
7| EEA Z 55N fS/E3E L9 AF 2 2 2 2 6
8 | EEA 2755 N H ik B 1984 4 4 | 4| 4 12
79 | EER | BERBER D ER ST E R R R 2-1 ik LA 195 A 2 2 | 2 2 6
80 | fEEAR AL R PEAR BH 1993 4 4 4 4 14
81 | fEE& ABRE AL R G0 FE B SN 545 1 199 4 41 4| 4 12
82 | fEER REID SR Al HE AR PEAR W 19¥i 4 4 | 4 2 10
83 | fGEA LT R 55 XS 1999 4 4 8 12
84 | fERAR T 5 R AR T T -Java PEETT 19913 4 4 4 4 14
85 [ BEAR | FBFEARBEMAEE GO F SRR RS 2-1 T e 1993 2 2 2 2 6
86 | EEA FLASHZ) i il /& BHH 19/ — 4 4 2 2 10
87 | EEA D) 2 B Al HeE I 19— 6 6 4 6 18
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Hpr: PR (UMD YL 15 Hip: 10
T | RIRAR BEA Hom KRR | AZm 2 | 3| 4|5 He|AA7%/R| &1
88 | mE A GRa ik J5 45 1 1904 — 4 4 | 4 4 12
89 | R A R (—) FET] & 190 — 4 4 | 4 | 4 12
9 | EEAR 146 4% 2R 5 IR F Ak 199 — 4 2 | 4| 4 10
91 | EEZ ZeurENa S5k e ES 19— 2 2 |1 2] 2 6
92 [EEA 1 e 19/ — 2 2 2 2 6
3 | zaz FLASHZ} i 1] PHH 195 = 4 S I =
94 | EER W £ S fi M h 195 — 6 6 | 4| 6 18
05 | 1zEZA I KA 19K — 4 4 | 4 2 10
9% |{56% PR () sKAEL 199 4 4 | 4| 4 12
07 | kg 1% 8 4 53 5 IR i O N P 1] °
98 | EEA SGrBia St AL 190 — 2 2 | 2| 2 8
9 [EEAR Ho P 1 ZEN] 19K — 2 2 2 2 6
100 | EEZ FLASHZ]) i il /& PHH 19M = 4 4 4 2 12
101 |25 K] 26 L it K& 19/ = 4 6 6 6 20
102 | f5EAR LRE AL sk MR 19/ = 4 4] 4] 4 12
103 | {55 & FIRE () kB 199 = 2 41 4] 4 12
104 | (ZE% W 24 e £ 2 2 5 R EEET 19 = 4 2| 4| 4 10
105 | (5B A SrBiR SR AEES 19/ = 2 2 | 2| 2 6
106 | R & 1 e 190 = 2 2 2 2 6
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